


Good afternoon; no warm up,
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check hw answers:

12.y=lnVx 5*x>0

14. y=23E" 4
16. y = In (sin x) cot x
18. r = log, (62) ’
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Position-Velocity-Acceleration (notes)
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How do we talk about "where" something is (position)?
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"Higher Order Derivatives™ 2nd derivative, 3rd derivative, etc.

Notation:

Function Derivative 2nd Deriv. 3rd Deriv
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A stone 1s thrown upwards from the top of a chiff so that its position 5{[1( = 0= S’G tm‘l’%"ﬁ)
-
relative to ground level is given by ﬁ] Qﬁ }/—\ s g{l 2"“‘/1‘ 2 )
x(1)=20t=5¢ +25 \J H’) = D s (0 B ('t ’§>(“f r)

al)= -0 mlg ?:-—E
where 1 1s measured 1in seconds and x 1s measured in metres. The

positive direction for position 1s upwards.
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¢) Find the velocity after 1 second. '\J( l\ - ( O M/S d’ (/
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a) Find the height of the cliff above ground level. X, (0) = Sl S

b) Find the maximum height above ground level attained by the stone. 2 4

d) Find the velocity when the stone hits the ground.
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